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1
1.1
Liquid_1.F8F
1.2
@
% 14 3
)
1.00
®
4) R
) RL
(©) N
@) 5.00 (m)
®) (IP,FC,D50,D10)
1.3
1
€Y)
1) = 1.500 (m)
2) = 50.000 (m)
3) = 6.000 (m)
)
y tl y t2 y t2’ FC D50 D10 SW
(m (kN/m) (kN/m*) (kN/m*) Ip %) (mm) (mm)
1 1.000 | 19.000 19.000 10.000 10.0 35.0 0.08000 | 0.04000 1
2 1.500 | 18.000 18.000 9.000 0
3 5.000 | 17.000 17.000 8.000 10.0 45.0 0.03000 | 0.02000 1
4 2.000 | 18.000 18.000 9.000 10.0 60.0 0.50000 | 0.03000 1
2.500 | 19.000 19.000 10.000 10.0 80.0 0.80000 | 0.50000 1
6 8.500 | 19.000 19.000 10.000 10.0 80.0 0.80000 | 0.50000 1
SW 1 0
SW
m (kN/m?)
1 1.000 2.000
2 1.500 23.00 2.000
3 5.000 2.000
4 2.000 2.000
5 2.500 2.000
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(m) (kN/m*)
6 8.500 2.000
®)
Vsi
(m) N (m/s)
1 1.000 | 2.0
2 1.500 | 2.0
3 5.000 | 4.0
4 2.000 | 3.5
5 2.500 | 7.7
6 8.500 | 11.6
(4N

m |
1 1.000 2.0
2 2.000 3.0

3.000 2.0
4 4.000 5.0
5 5.000 | 10.0
6 6.000 2.0

7.000 1.0

8.000 3.0
9 9.000 4.0
10 10.000 8.0
11 11.000 7.0
12 12.000 8.0
13 13.000 9.0
14 14.000 | 10.0
15 15.000 | 12.0
16 16.000 8.0
17 17.000 9.0
18 18.000 | 10.0
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1
Vsi - -
Hi () | N (s |MH Vs
1 1.000 | 2.0 | 100.794 | 0.010
2 1.500 | 2.0 | 125.992 | 0.012
3 5.000 | 4.0 | 126.992 | 0.039
4 2.000 | 3.5| 121.464| 0.016
2.500 | 7.7 | 157.974| 0.016
6 8.500 | 11.6 | 181.096 | 0.047
—— | 20,500 | — —_— 0.140
Vsi
Bk OEAS Vsi = 100-Ni? (1 £ Ni =
WEt+BOES Vsi= 80+Ni® (1 = Ni =
€)) TG
Hi
TG =403 — = 0.562 (s)
Vsi
@
1 I khgo = 0.35
Il khgo = 0.70

25 )

50 )
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2.2

L
rd+khg-* ov
L = R
oV
ov =ytl hw y €2 (x hw)
oV =y tl hw y t2’ (x hw)
L
rd = 1.0 0.015 x
X (m
khg 2 = Cz khgo
I =0.35
11 =0.70
Cz = 1.00
khgo 2
I =0.35
11 =0.70
ov (kN/m?)
oV (kN/m*)
y tl (KN/m?)
y t2 (KN/m*)
y t2 (kN/m®)
hw (m)
| 11
av oV av avVv
M | anmy | ) rd Ny | am) rd L
1.000
2.000
3.000 54.500 41.000 | 0.955 | 0.444 54.500 41.000 | 0.955 | 0.889
4.000 71.500 49.000 | 0.940 | 0.480 71.500 49.000 | 0.940 | 0.960
5.000 88.500 57.000 | 0.925 | 0.503 88.500 57.000 | 0.925 | 1.005
6.000 | 105.500 65.000 | 0.910 | 0.517 | 105.500 65.000 | 0.910 | 1.034
7.000 | 122.500 73.000 | 0.895 | 0.526 | 122.500 73.000 | 0.895| 1.051
8.000 | 140.000 81.500 | 0.880 | 0.529 | 140.000 81.500 | 0.880 | 1.058
9.000 | 158.000 90.500 | 0.865 | 0.529 | 158.000 90.500 | 0.865 | 1.057
10.000 | 176.500 | 100.000 | 0.850 | 0.525 | 176.500 | 100.000 | 0.850 | 1.050
11.000 | 195.500 | 110.000 | 0.835 | 0.519 | 195.500 | 110.000 | 0.835| 1.039
12.000 | 214.500 | 120.000 | 0.820 | 0.513 | 214.500 | 120.000 | 0.820 | 1.026
13.000 | 233.500 | 130.000 | 0.805 | 0.506 | 233.500 | 130.000 | 0.805 | 1.012
14.000 | 252.500 | 140.000 | 0.790 | 0.499 | 252.500 | 140.000 | 0.790 | 0.997
15.000 | 271.500 | 150.000 | 0.775 | 0.491 | 271.500 | 150.000 | 0.775| 0.982
16.000 | 290.500 | 160.000 | 0.760 | 0.483 | 290.500 | 160.000 | 0.760 | 0.966
17.000 | 309.500 | 170.000 | 0.745 | 0.475| 309.500 | 170.000 | 0.745| 0.949
18.000 | 328.500 | 180.000 | 0.730 | 0.466 | 328.500 | 180.000 | 0.730 | 0.933
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2.3

R
R=Cw RL
R
Cw
|
Cw=1.0
11
( RL 0.1) Cw=1.0
(0.1 RL 0.4) Cw = 3.3 RL
(0.4 RL ) Cw=2.0
RL
1
| 11
(m) RL Cw R RL Cw R
1.000
2.000
3.000 0.181 | 1.000 0.181 0.181 | 1.267 0.229
4.000 0.254 1.000 0.254 0.254 1.508 0.383
5.000 0.405 | 1.000 0.405 0.405 | 2.000 0.810
6.000 0.169 1.000 0.169 0.169 1.227 0.207
7.000 0.135 | 1.000 0.135 0.135 | 1.115 0.150
8.000 0.209 | 1.000 0.209 0.209 | 1.358 0.283
9.000 0.227 1.000 0.227 0.227 1.419 0.322
10.000 0.579 1.000 0.579 0.579 2.000 1.158
11.000 0.374 1.000 0.374 0.374 1.904 0.712
12.000 0.431 1.000 0.431 0.431 2.000 0.861
13.000 0.506 1.000 0.506 0.506 2.000 1.012
14.000 0.602 | 1.000 0.602 0.602 | 2.000 1.204
15.000 1.043 1.000 1.043 1.043 2.000 2.086
16.000 0.330 1.000 0.330 0.330 1.758 0.579
17.000 0.356 | 1.000 0.356 0.356 | 1.846 0.657
18.000 0.391 1.000 0.391 0.391 1.960 0.766

0.67
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2.4

( Na

(14

RL
< 14)DExE RL = 0.0882 + /Na/1.7
< Na )Dkx RL = 0.0882 » Na/1.7 + 1.6X10°+ Na—14)*"
Na=ClL Nl (2
NL=170 N/ (oV 70 )
( 0% FC  10%) CL=1
(10% FC  60% ) Cl = (FC 40)/50
( 60% FC ) Cl = FC/20 1
( 0% FC  10%) C2=0
(10% FC ) c2 = (FC 10)/18
Na={1 0.36 log,(D50/2) } N1
RL
N N
N1 100 (kN/m2)
Na
C1,C2 N
FC )
D50 (mm)
N c1 N1 c2 Na RL
(m)
1.000 2.0
2.000 3.0
3.000 2.0 1.700 | 3.06| 1.94| 7.15 0.181
4.000 5.0 1.700 | 7.14| 1.94| 14.09 0.254
5.000 10.0 | 1.700 | 13.39 | 1.94 | 24.70 0.405
6.000 2.0 1.700 | 2.52| 1.94| 6.23 0.169
7.000 1.0 | 1.700 | 1.19| 1.94| 3.97 0.135
8.000 3.0 2.000| 3.37| 2.78| 9.51 0.209
9.000 4.0 2.000| 4.24| 2.78| 11.25 0.227
10.000 8.0 3.000| 8.00| 3.89| 27.89 0.579
11.000 7.0| 3.000| 6.61| 3.89| 23.72 0.374
12.000 8.0| 3.000| 7.16| 3.89| 25.36 0.431
13.000 9.0 | 3.000| 7.65| 3.89| 26.84 0.506
14.000 10.0 | 3.000 | 8.10 | 3.89 | 28.17 0.602
15.000 12.0 | 3.000| 9.27| 3.89| 31.71 1.043
16.000 8.0 3.000| 5.91| 3.89| 21.63 0.330
17.000 9.0 | 3.000| 6.38| 3.89| 23.01 0.356
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(m

C1

N1

C2

Na

RL

18.000

10.0

3.000

6.80

3.89

24.29

0.391
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2.5

1
(1) I
FC D50 D10
N 1 R L FL
™ S ON NGO I D
1.000 | 2.0
2.000 | 3.0
3.000 | 2.0 10.0 | 45.0 | 0.03000 | 0.02000 0.181 | 0.444 0.407 | o
4.000 | 5.0 10.0 | 45.0 | 0.03000 | 0.02000 0.254 | 0.480 0.529 | o
5.000 | 10.0 10.0 | 45.0 | 0.03000 | 0.02000 0.405 | 0.503 0.805 | o
6.000 | 2.0 10.0 | 45.0 | 0.03000 | 0.02000 0.169 | 0.517 0.327 | o
7.000 | 1.0 10.0 | 45.0 | 0.03000 | 0.02000 0.135 | 0.526 0.256 | o
8.000 | 3.0 10.0 | 60.0 | 0.50000 | 0.03000 0.209 | 0.529 0.394 | o
9.000 | 4.0 10.0 | 60.0 | 0.50000 | 0.03000 0.227 | 0.529 0.429 | o
10.000 | 8.0 10.0 | 80.0 | 0.80000 | 0.50000 0.579 | 0.525 1.103 | x
11.000 | 7.0 10.0 | 80.0 | 0.80000 | 0.50000 0.374 | 0.519 0.720 | o
12.000 | 8.0 10.0 | 80.0 | 0.80000 | 0.50000 0.431 | 0.513 0.839 | o
13.000 | 9.0 10.0 | 80.0 | 0.80000 | 0.50000 0.506 | 0.506 1.000 | x
14.000 | 10.0 10.0 | 80.0 | 0.80000 | 0.50000 0.602 | 0.499 1.208 | x
15.000 | 12.0 10.0 | 80.0 | 0.80000 | 0.50000 1.043 | 0.491 2.124 | x
16.000 | 8.0 10.0 | 80.0 | 0.80000 | 0.50000 0.330 | 0.483 0.682 | o
17.000 | 9.0 10.0 | 80.0 | 0.80000 | 0.50000 0.356 | 0.475 0.750 | o
18.000 | 10.0 10.0 | 80.0 | 0.80000 | 0.50000 0.391 | 0.466 0.838 | o
20m X o
0 50 0 1 2 3
>
NfE FL
&) 1
FC D50 D10
N I R L FL
™ S ON I CD I D
1.000 | 2.0
2.000 | 3.0
3.000 | 2.0 10.0 | 45.0 | 0.03000 | 0.02000 0.229 | 0.889 0.258 | o
4.000 | 5.0 10.0 | 45.0 | 0.03000 | 0.02000 0.383 | 0.960 0.399 | o
5.000 | 10.0 10.0 | 45.0 | 0.03000 | 0.02000 0.810 | 1.005 0.805 | o
6.000 | 2.0 10.0 | 45.0 | 0.03000 | 0.02000 0.207 | 1.034 0.200 | o
7.000 | 1.0 10.0 | 45.0 | 0.03000 | 0.02000 0.150 | 1.051 0.143 | o
8.000 | 3.0 10.0 | 60.0 | 0.50000 | 0.03000 0.283 | 1.058 0.268 | o
9.000 | 4.0 10.0 | 60.0 | 0.50000 | 0.03000 0.322 | 1.057 0.305 | o
10.000 | 8.0 10.0 | 80.0 | 0.80000 | 0.50000 1.158 | 1.050 1.103 | x
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FC D50 D10
N | R L FL

™ Pl @] | m
11.000 | 7.0 10.0 | 80.0 | 0.80000 | 0.50000 0.712 | 1.039 0.686 | o
12.000 | 8.0 10.0 | 80.0 | 0.80000 | 0.50000 0.861 | 1.026 0.839 | o
13.000 | 9.0 10.0 | 80.0 | 0.80000 | 0.50000 1.012 | 1.012 1.000 | x
14.000 | 10.0 10.0 | 80.0 | 0.80000 | 0.50000 1.204 | 0.997 1.208 | x
15.000 | 12.0 10.0 | 80.0 | 0.80000 | 0.50000 2.086 | 0.982 2.124 | x
16.000 | 8.0 10.0 | 80.0 | 0.80000 | 0.50000 0.579 | 0.966 0.600 | o
17.000 | 9.0 10.0 | 80.0 | 0.80000 | 0.50000 0.657 | 0.949 0.692 | o
18.000 | 10.0 10.0 | 80.0 | 0.80000 | 0.50000 0.766 | 0.933 0.822 | o

20m X o
0 50 0 1 2 3
d
N FL
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3.1 N

€Y

[an—

R
() FL (kN/1TP) DE
1.000 0.00 | 1.000
2.000 23.00 | 1.000
3.000 0.181 0.407 0.00 | 0.333
4.000 0.254 0.529 0.00 | 0.333
5.000 0.405 0.805 0.00 | 1.000
6.000 0.169 0.327 0.00 | 0.000
7.000 0.135 0.256 0.00 | 0.000
8.000 0.209 0.394 0.00 | 0.333
9.000 0.227 0.429 0.00 | 0.333

10.000 0.579 1.103 0.00 | 1.000

11.000 0.374 0.720 0.00 | 1.000

12.000 0.431 0.839 0.00 | 1.000

13.000 0.506 1.000 0.00 | 1.000

14.000 0.602 1.208 0.00 | 1.000

15.000 1.043 2.124 0.00 | 1.000

16.000 0.330 0.682 0.00 | 1.000

17.000 0.356 0.750 0.00 | 1.000

18.000 0.391 0.838 0.00 | 1.000
0 50 0 1 3

>
NfE FL DE (VA" 12)
1
R
(n) FL (kN/) DE
1.000 0.00 | 1.000
2.000 23.00 | 1.000
3.000 0.229 0.258 0.00 | 0.000
4.000 0.383 0.399 0.00 | 0.667
5.000 0.810 0.805 0.00 | 1.000
6.000 0.207 0.200 0.00 | 0.000
7.000 0.150 0.143 0.00 | 0.000
8.000 0.283 0.268 0.00 | 0.000
9.000 0.322 0.305 0.00 | 0.167
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®

[u—y

R
() FL (kN/1TP) DE
10.000 1.158 1.103 0.00 | 1.000
11.000 0.712 0.686 0.00 | 1.000
12.000 0.861 0.839 0.00 | 1.000
13.000 1.012 1.000 0.00 | 1.000
14.000 1.204 1.208 0.00 | 1.000
15.000 2.086 2.124 0.00 | 1.000
16.000 0.579 0.600 0.00 | 0.667
17.000 0.657 0.692 0.00 | 1.000
18.000 0.766 0.822 0.00 | 1.000
0 50 0 1 3
)
NfE FL DE (VA" 12)
1

(n) (KN/m) DE

1.000 0.00 | 1.000

2.000 23.00 | 1.000

3.000 0.00 | 0.167

4.000 0.00 | 0.667

5.000 0.00 | 1.000

6.000 0.00 | 0.167

7.000 0.00 | 0.167

8.000 0.00 | 0.167

9.000 0.00 | 0.333

10.000 0.00 | 1.000

11.000 0.00 | 1.000

12.000 0.00 | 1.000

13.000 0.00 | 1.000

14.000 0.00 | 1.000

15.000 0.00 | 1.000

16.000 0.00 | 1.000

17.000 0.00 | 1.000

18.000 0.00 | 1.000
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4

0 50
NfE
I

| 1 1 1
(m
1.000 1.000 1.000 1.000 1.000
2.000 1.000 1.000 1.000 1.000
3.000 0.333 0.000 0.000 0.167
4.000 0.333 0.667 0.333 0.667
5.000 1.000 1.000 1.000 1.000
6.000 0.000 0.000 0.000 0.167
7.000 0.000 0.000 0.000 0.167
8.000 0.333 0.000 0.000 0.167
9.000 0.333 0.167 0.167 0.333
10.000 1.000 1.000 1.000 1.000
11.000 1.000 1.000 1.000 1.000
12.000 1.000 1.000 1.000 1.000
13.000 1.000 1.000 1.000 1.000
14.000 1.000 1.000 1.000 1.000
15.000 1.000 1.000 1.000 1.000
16.000 1.000 0.667 0.667 1.000
17.000 1.000 1.000 1.000 1.000
18.000 1.000 1.000 1.000 1.000

DE (bA™ 1)
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gL =Cs CNL Kp y NLi Xx
gL =Cs CL { X (yNLi HNLi ) yLi (x ZHNLi)?}
gL x(m) (kN/m?)
Cs =1.00
( S 50 ) Cs = 1.0
( 50 s 100 ) Cs = 0.5
(100 s ) Cs = 0.0
S = 50.000 (m)
CNL
( PL 5) CNL = 0
( 5 PL 20) CNL = (0.2 PL-1)/3
( 20 PL ) CNL = 1
CNL = 1.000 1
= 1.000 1
PL
PL = 5;0(1—FL)-<10—0.5-X) dx
= 27.027 |
= 32.173 11
FL FL 1.0 FL = 1.0
CL = 0.30
Kp
y NLi (kN/m*)
y Li (kN/m*)
X (m)
HNLi (m)
HLi (m
1 1
Kp Y
(m m (kN/m) aL (KN/iE) aL (kN/)
0.000 | 1.000 2.000 19.000 0.000 0.000
1.000 38.000 38.000
1.000 | 1.500 | 2.000 18.000 38.000 38.000
2.500 92.000 92.000
2.500 | 5.000 2.000 17.000 13.800 13.800
7.500 39.300 39.300
7.500 | 2.000 2.000 18.000 39.300 39.300
9.500 50.100 50.100
9.500 | 2.500 | 2.000 19.000 50.100 50.100
12.000 64.350 64.350
12.000 | 8.500 2.000 19.000 64.350 64.350
20.500 112.800 112.800
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@
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1
™ I
FC D50 D10
N 1 R L FL
™ Pl @] o | m
1.000 | 2.0
2.000 | 3.0
3.000 | 2.0 10.0 | 45.0 | 0.03000 | 0.02000 0.181 | 0.444 0.407
4.000 | 5.0 10.0 | 45.0 | 0.03000 | 0.02000 0.254 | 0.480 0.529
5.000 | 10.0 10.0 | 45.0 | 0.03000 | 0.02000 0.405 | 0.503 0.805
6.000 | 2.0 10.0 | 45.0 | 0.03000 | 0.02000 0.169 | 0.517 0.327
7.000 | 1.0 10.0 | 45.0 | 0.03000 | 0.02000 0.135 | 0.526 0.256
8.000 | 3.0 10.0 | 60.0 | 0.50000 | 0.03000 0.209 | 0.529 0.39%4
9.000 | 4.0 10.0 | 60.0 | 0.50000 | 0.03000 0.227 | 0.529 0.429
10.000 | 8.0 10.0 | 80.0 | 0.80000 | 0.50000 0.579 | 0.525 1.103
11.000 | 7.0 10.0 | 80.0 | 0.80000 | 0.50000 0.374 | 0.519 0.720
12.000 | 8.0 10.0 | 80.0 | 0.80000 | 0.50000 0.431 | 0.513 0.839
13.000 | 9.0 10.0 | 80.0 | 0.80000 | 0.50000 0.506 | 0.506 1.000
14.000 | 10.0 10.0 | 80.0 | 0.80000 | 0.50000 0.602 | 0.499 1.208
15.000 | 12.0 10.0 | 80.0 | 0.80000 | 0.50000 1.043 | 0.491 2.124
16.000 | 8.0 10.0 | 80.0 | 0.80000 | 0.50000 0.330 | 0.483 0.682
17.000 | 9. 10.0 | 80.0 | 0.80000 | 0.50000 0.356 | 0.475 0.750
18.000 | 10.0 10.0 | 80.0 | 0.80000 | 0.50000 0.391 | 0.466 0.838
20m x o
) 1
FC D50 D10
N I R L FL
™ Pl e |
1.000 | 2.0
2.000 | 3.0
3.000 | 2. 10.0 | 45.0 | 0.03000 | 0.02000 0.229 | 0.889 0.258
4.000 | 5.0 10.0 | 45.0 | 0.03000 | 0.02000 0.383 | 0.960 0.399
5.000 | 10.0 10.0 | 45.0 | 0.03000 | 0.02000 0.810 | 1.005 0.805
6.000 | 2.0 10.0 | 45.0 | 0.03000 | 0.02000 0.207 | 1.034 0.200
7.000 | 1.0 10.0 | 45.0 | 0.03000 | 0.02000 0.150 | 1.051 0.143
8.000 | 3.0 10.0 | 60.0 | 0.50000 | 0.03000 0.283 | 1.058 0.268
9.000 | 4.0 10.0 | 60.0 | 0.50000 | 0.03000 0.322 | 1.057 0.305
10.000 | 8.0 10.0 | 80.0 | 0.80000 | 0.50000 1.158 | 1.050 1.103
11.000 | 7.0 10.0 | 80.0 | 0.80000 | 0.50000 0.712 | 1.039 0.686
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FC

D50

D10

o N @ om e R L FL
12.000 | 8.0 10.0 | 80.0 | 0.80000 | 0.50000 0.861 | 1.026 0.839
13.000 | 9.0 10.0 | 80.0 | 0.80000 | 0.50000 1.012 | 1.012 1.000
14.000 | 10.0 10.0 | 80.0 | 0.80000 | 0.50000 1.204 | 0.997 1.208
15.000 | 12.0 10.0 | 80.0 | 0.80000 | 0.50000 2.086 | 0.982 2.124
16.000 | 8.0 10.0 | 80.0 | 0.80000 | 0.50000 0.579 | 0.966 0.600
17.000 | 9.0 10.0 | 80.0 | 0.80000 | 0.50000 0.657 | 0.949 0.692
18.000 | 10.0 10.0 | 80.0 | 0.80000 | 0.50000 0.766 | 0.933 0.822

20m X o
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5.2

M N
1
I

1 11 11 1
m
1.000 1.000 1.000 1.000 1.000
2.000 1.000 1.000 1.000 1.000
3.000 0.333 0.000 0.000 0.167
4.000 0.333 0.667 0.333 0.667
5.000 1.000 1.000 1.000 1.000
6.000 0.000 0.000 0.000 0.167
7.000 0.000 0.000 0.000 0.167
8.000 0.333 0.000 0.000 0.167
9.000 0.333 0.167 0.167 0.333
10.000 1.000 1.000 1.000 1.000
11.000 1.000 1.000 1.000 1.000
12.000 1.000 1.000 1.000 1.000
13.000 1.000 1.000 1.000 1.000
14.000 1.000 1.000 1.000 1.000
15.000 1.000 1.000 1.000 1.000
16.000 1.000 0.667 0.667 1.000
17.000 1.000 1.000 1.000 1.000
18.000 1.000 1.000 1.000 1.000
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5.3

Kp y3
(m (m (kN/m) L (KN/) L (kN/m)
0.000 | 1.000 | 2.000 | 19.000 0.000 0.000
1.000 38.000 38.000
1.000 | 1.500 | 2.000 | 18.000 38.000 38.000
2.500 92.000 92.000
2.500 | 5.000 | 2.000 | 17.000 13.800 13.800
7.500 39.300 39.300
7.500 | 2.000| 2.000 | 18.000 39.300 39.300
9.500 50.100 50.100
9.500 | 2.500 | 2.000 | 19.000 50.100 50.100
12.000 64.350 64.350
12.000 | 8.500 | 2.000 | 19.000 64.350 64.350
20.500 112.800 112.800
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